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Paper |
General Awareness

Question Number : 1 Question Id : 44100986959 Question Type : MOOQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

On March 9, Madhav National Park was declared India’s 58™ Tiger Reserve. In which state is it located?
Options :

1. Rajasthan

2. Madhya Pradesh

3. Maharashtra

4. Chhattisgarh

Question Number : 2 Question Id : 44100986967 Question Type : MOCOQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : ()

Which of the following teams won the 90 season of the Ranji Trophy in March 20257
Options :

1. Mumbai

2. Karnataka

3. Vidarbha

4. Kerala

Question Number : 3 Question Ld : 44100986978 Question Tyvpe : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : ()

What is the name of the modern animal rescue, conservation and rehabilitation centre inaugurated by Prime Minister Narendra Modi in
Jamnagar, Gujarat in March 20257

Options :
1. Vantara
2. Pashu Sewa Kendra
3. Jeev Raksha Dham
4. Prani Mitra Bhavan

Question Number : 4 Qruestion 1d : 44100986983 Question Tvpe : MOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : ()

Consider the following statements regarding the Corruption Perceptions Index 2024 (CPI). Which of these statements is/are correct?
1. India ranked 96 out of 180 countries in the Corruption Perceptions Index (CPI) for 2024,
2. It is released by International Monetary Fund.

Options :

1. 1 only

2 2 only

3. Both 1 and 2
4. Neither 1 nor 2

Question Number : 5 Question Id : 44100986994 Question Tyvpe : MOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In February 2025, which Chinese Al startup launched generative Al models that rival global leaders like OpenAl, Google and Meta?
Options :

1. Baidu
. DeepSeck
. Tencent Al Lab

= Lak bk

. Sense Time




Question Number : 6 Question Id : 44100987008 Question Type : MOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Punjab State Assembly passed the Punjab Apariment and Property Regulation (Amendment) Bill, 2024, to address which of the following
issues?

Options :

1. Urban traffic congestion

2. lllegal colonies

3. Water pollution

4. Agriculural land acquisition

Question Number @ 7 Question Id : 44100987012 Question Type : MOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following awards will Jaswant Singh Zafar be given by the Punjab Art Council in 20257
Options :

1. Punjab Ratan Award

2. Punjab Gaurav Award

3. Sahitya Shiromani Award

4. Shiromani Punjabi Sahitkar Award

Question Number : 8 Question Id : 44100987015 Question Tyvpe : M) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Punjab-based writer Chandan Negi was selected for the Sahitya Akademi Translation Award, 2024, for translating which Hindi novel into
Punjakbi?
Options :

. Raag Darbari

=

. Tumbhare Liye
. Maila Aanchal
. Godaan

Question dMumber : 9 Question 1d : 44100987020 Question Type : MOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In 2023, which state became the first in India to introduce sign language in its Legislative Assembly to facilitate persons with disabilities?
Options :

1. Punjab

2. Maharashtea

3. Gujarat

4. Karnataka

Question Number : 10 Question 1d : 44100978544 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The idea of the creation of Zonal Councils in India was first mooted by which of the following leaders?
Options :

1. Dr. BR Ambedkar

2. Sardar Vallabhbhai Patel

3. Pandit Jawaharlal Mehru

4. C Rajagopalachari

Question dMumber : 11 Question Id : 44100978550 Question Type : MOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following Constitutional Provisions empowers India to advocate for international peace and security, as seen in its mediation
efforts in the Istacl-Hamas conflict?

Options :

S Article 21
2. Article 51
3. Article 19
4. Article 30




Question Number : 12 Question Id : 44100978553 Question Type : MC(Q Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following fundamental rights is exclusively available to Indian citizens and NOT to foreigners?
Options :

1.

Right to elementary education

4
Freedom to manage religious affairs

3.

Right against discrimination on the grounds of place of birth

4. Equality before law and equal protection of laws

Question Number : 13 Question 1d : 44100978558 Question Type : MCQ Display Question Number : Yes

Correct Marks : 1 Wrong Marks : ()

The term 'Socialist’ was inserted in the Preamble of the Indian Constitution through which of the following Constitutional Amendment Acts?
Options :

1. 42" Amendment Act, 1976

[

. 44 Amendment Act, 1978
. 24™ Amendment Act, 1971
- 52™ Amendment Act, 1985

= L

Question Number : 14 Question 1d : 44100978585 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The State Election Commission is responsible for conducting elections to which of the following bodies in India?
Options :

1. Panchayats and Municipalities

2. Lok Sabha and Rajya Sabha

3. State Legislative Assemblies and Councils

4. Zonal Councils and Inter-State Councils

Question Number : 15 Question 1d : 44100978581 Question Type : MC(Q) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : ()

A Nagar Panchayat in India is established for which of the following areas?

Options :

1. Transitional areas between rural and urban areas

2. Fully developed urban areas

3. Rural areas with agricultural dominance

4

. Industrial zones

Question Number : 16 Question 1d : 44100978588 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which Constiutional Amendment Act implemented Article 40 of the Directive Principles of State Policy (DPSP) by granting constitutional
status to the Panchayati Raj system?

Options :

1. The Constitution { Forty-fourth Amendment) Act, 1978
2. The Constitution { Forty-second Amendment) Act, 1976
3. The Constitution (Seventy-third Amendment) Act, 1992
4. The Constitution { Eighty-sixth Amendment) Act, 2002




Question Number : 17 Question 1d : 44100978595 Question Type : MC(Q Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The salary and allowances of the Chief Minister of a state are determined by which of the following?

Options :

1. State Legislature

2. Parliament of India

3. Finance Commission

4. Governor of the State

Question Number : 18 Question 1d : 44100978606 Question Type : MCQ Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following forums in India is known for settling disputes pending in courts or at the pre-litigation stage in an amicable manner?
Options :

1. Lok Adalat

2. National Green Tribunal

3. Consumer Disputes Redressal Forum
4. Central Administrative Tribunal

Question Number : 19 Question 1d : 44100978609 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following Articles of the Indian Constitution deals with the appointment of District Judges?
Options :

CArticle 233

2. Article 217

- Article 226

CArticle 312

= L

Question Number : 20 Question 1d : 44100984824 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statements regarding the Sutlej river is correct?

Options :

1. It originates from the Gangotri Glacier in Uttarakhand.

2. It is a tributary of the Yamuna river.

3. It originates in the *Rakshas tal” near Mansarovar in Tibet.

4. It is a consequent river formed due to recent tectonic activity.

Question Number : 21 Question 1d : 44100984841 Question Tyvpe : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Abohar Wildlife Sanctuary is famous for the conservation of which of the following species?

Options :

1. One-horned rhinoceros

2. Snow leopard

3. Black buck

4. Asiatic lion

Question Number : 22 Question 1d : 44100984871 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Sava 7501 and Sava 7301 are

Options :

1. hybrid maize varieties

2. hybrid wheat varieties

3. hybrid rice varieties
4. hybrid millet varieties




Question Number : 23 Question Id : 44100984883 Question Type : MCQ Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Under the Pradhan Mantri Gram Sadak Yojana (PMGSY), which of the following aspects has significantly impacted the economic geography
of Punjab?

Options :

1. Improved road networks facilitating agricultural market access

2. Promotion of urbanisation in rural districts

3. Decline in agriculural productivity due to road expansion

4. Reduction in groundwater availability due to infrastructure development

Question Number : 24 Question Id : 44100985555 Question Tyvpe : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following was a primary factor behind the initiation of the Singh Sabha Movement in Punjab during the 187057
Options :

1. Promotion of Sikh agricultural reforms

2. To revive and purify Sikhism

3. Demand for political representation under British rule

4. Expansion of Sikh trade networks in North India

Question Number : 25 Question Id : 44100985607 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What was the primary objective of the Kuka Movement?

Options :

1. Promotion of Western education in Punjab

2. Revival of Sikhism and opposition to British rule

3. Establishment of a separate Sikh state
4. Expansion of trade with British merchants

Question Number : 26 Question 1d : 44100985776 Question Type : MC(Q Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which Urdu weekly newspaper was published by the Punjab Workers” and Peasants” Party?

Options :

1. Dainik Jagran

2. Mehanatkash

. Prabuddha Bharat

. Swara)

= L

Question Number : 27 Question Ld : 44100985788 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the primary objective of "Project Hifazat' launched in Punjab?

Options :

1. Promoting women’s entrepreneurship

2. Providing assistance to women facing violence

3. Enhancing rural employment opportunities
4. Developing sports infrastructure for children




Question Number : 28 Question 1d : 441009385791 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What was a key feature of the Green Revolution that contributed 1o increased food production and subsequently impacted poverty, income, and
employment, leading to economic growth?

Options :

1. Organic farming techniques

2. Extensive use of traditional seeds

3. Adoption of High Yielding Variety (HY'V) seeds
4. Reduction in irrigation facilities

Question Number : 29 Question 1d : 44100984730 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

Melioidosis, a bacterial infectious disease, is primarily influenced by which environmental factors?

Options :

1. Air pollution and UV radiation

2. Rainfall, temperature and humidity
3. Soil erosion and deforestation

4. Noise pollution and altitude

Question Number : 30 Question 1d : 44100984809 Question Type : MOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

Which of the following is the main function of antioxidants in the human body?

Options :

1. Boost the production of vitamins

2. Prevent the oxidation of nutrients such as carbohydrates, proteins and fats

3. Safeguard cells from damage caused by free radicals
4

. Stimulate genes that slow down the ageing process

Question dumber : 31 Question 1d : 44100984815 Question Type : MO} Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Giloy (Guduchi or Amrita), known for its immune-boosting and adaptogenic properties, is commonly used in which of the following traditional
systems of medicine?

Options :
1. Ayurveda

2. Homeopathy
3. Unam
4. Allopathy




Ouestion Number : 32 Question Ld : 44100984728 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : ()

Enzymes primarily belong to which of the following biological macromolecules?

(hptions :

1. Fats

2. Sugars

3. Proteins

4. Vitamins

Ouestion Number : 33 Question Id : 44100984805 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following best describes probiotics?

Options :

1. Live microorganisms that provide health benefits when consumed

2. Genetically modified organisms used in agricultural production

1. Synthetic chemicals used to enhance food preservation

4. Antibiotics used to kill harmful bacteria in the human body

Ouestion Number : 34 Question Ld : 44100984724 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Insulin, a bormone responsible for regulating blood sugar levels, belongs to which of the following categories?
(hptions :

1. Carbohydrate

2. Fatty acid

3. Peptide hormone
4. Sterod

(Question Number : 35 Question 1d : 44100984813 Question Type : MO Display (Qruestion Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Guillain-Barré Syndrome (GBS) is a rare neurological disorder in which the body's immune system attacks which of the following
systems’?

Options :

1. Peripheral nervous system (PNS)
2. Central nervous system (CNS)

. Endocrine system

3
4. Respiratory sysiem




Quantitative Aptitude and Numerical Skills

Question Number : 36 Question 1d : 44100986924 Question Type : MCQ Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The average age of 8 people in a room is 30 years. Two new people enter the room, increasing the average age by 2 years. If the difference in
age berween the two new people is 6 years, what is the age of each new person?

Options :

1. 43 years and 37 vears

235 years and 41 years

3. 39 vears and 33 vears

4. 49 vears and 43 vears

Question Number : 37 Question 1d : 44100986942 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In a class of 50 students, the average score in a math test is 75. The top 10 students have an average score of 90, and the next 20 students have
an average score of 80, If 3 students from the lowest-performing group retake the test and score an average of 83, while the scores of the
remaining 13 students remain unchanged, what will be the new class average?

Options :
1.62.84
2.T125
3. B0.55
4.90.11

Question Number : 38 Question Id : 44100986968 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
A tea company mixes three types of herbal tea priced at 2500/kg, ¥600/kg and T8O0kg. The final mixture is sold at T720/kg, earning a profit of

20%%. If the mixture, which is 60 kg in weight, contains § kg of the third type, what is the amount of the second type of herbal tea included in
the mixture?

Options :
1. 16 kg
2.25kg
3.36 ke
4.42 kg

Question Number : 39 Question 1d : 44100987045 Question Type : MOOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Aman borrows money for his new business at a simple interest rate of 12% per annum for 5 years. He agrees to repay the loan in two
installments: he pays off 50% of the principal after 3 years and the remaining 30% at the end of 5 vears. If the total simple interest paid over the
combined period is 21,800, what was the original principal amount?

Options :
1. 23,750
224870
315,120

4. 16,030

Question Number : 40 Question Id : 44100987060 Question Type : MCQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is equivalent to 3.15 +4.125?

Options :
1. 3123

151
1921

264
4501

311

=

4 2213

433




Question Number : 41 Question 1d : 44100987068 Question Tvpe : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the value of 4 x 57+ (22 - 3) - 16— 4+ 27 -1 = 110+ 227

Options :

1. 11

212

313

4. 14

Question Number : 42 Question 1d : 44100987096 Question Tvpe : MC(Q Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If /11.56 ++/144 + X2 =16.4, what is the value of x?
Options :

-3

2.4

35

4.6

Question Number : 43 Question 1d : 44100987102 Question Tvpe : MC(Q Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A company incurs a monthly operational cost of 210,000, Due to rising expenses, this cost increases by 10% at the end of every quarter. After
three quarters, a financial review reveals that the company’s revenue is 25% more than its total operational cost for that period. What is the
company's revenue for these three quarters?

Options :

1. 21.32.360

2. 11.24,125

3 TLL18.765

4. 11.10,980

Question Number : 44 Question Id : 44100987124 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A person’s salary is increased by 20% in the first year. Due to economic conditions, in the second vear it is decreased by 15%, and in the third
year it is further decreased by 5%. What is the net percentage change in the salary over the three-year period?

Options :

1. L9% increase

2. 3.1% decrease

3. 4.2% increase
4. No change

Question Number : 45 Question Id : 44100987127 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A trader sells an article for 21,140 at a profit of 20%. If he had sold the same article for 21,000 instead. what would have been his profit or loss
percentage? { Rounded off to two decimal places.)

Options :

1. 5.26% profit
2. 6.31% loss
3. 4.39% profit
4. 7.01% loss

Question Number : 46 Question Ld : 44100987131 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A jeweler buys a gold necklace for 280,000 and sells it at a 30% profit. He then uses the total amount to buy two diamond rings. He sells one
ring at a 25% loss and the other at a 20% loss. If there is no overall loss or gain in this trade, what are the cost prices of the rings, respectively?

Options :

1. 252,000 and T532,000
2. 254,000 and 50,000
264,000 and 240,000
- TTLO00 and 233,000

4 e




Question Number : 47 Question 1d : 44100987145 Question Type : MCOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
A shopkeeper sells two different items with different marked prices and discount strategies.

For the first item, the marked price is T0% above the cost price, and a 30% discount is offered.
For the second item, the marked price is 90% above the cost price, and a 35% discount is offered.

If the ratio of the cost prices of the first and second items is 3 ¢ 2 and their total cost price is 21,000, what is his overall profit or loss
percentage’

Options :

1. 25.8% loss

2. 24.3% profit

3. 23.2% loss

4. 20.8% profit

Question Number : 48 Question 1d : 44100987174 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
A supermarket runs the following promotions on a pack of cookies.

Promotion A: Two successive discounts of 30% and 20%.

Promotion B: Buy 2, get 2 free.
Promotion C: Buy 3 get 1 free.

For a customer purchasing 4 packs, which promotion gives the best overall saving?

Options :

1. Only promotion A

2. Only promotion B

3. Only promotion C

4. Either promotion B or promotion C

Question Number : 49 Question 1d : 44100987288 Question Type : MCQ Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the fourth proportional (a natural number) to the expressions 2x + 3, 5, and 3x — 2, given that X is a natural number and | <x < 57
Options :

1.2

ol

3
4
5

Question Number : 50 Question 1d : 44100987295 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The weights of two objects C and D are in the ratio 7 ¢ 11. If both objects lose 2 kg each, the new ratio becomes 5 1 9, what is the difference
between their current weighis?

Options :
ldkg
2. 8kg
3. 12kg
4. 16 ke




Question Number : 51 Question Id : 44100987304 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks :
Two pipes, A and B, can fill a tank in 10 mutes and 12 munutes, respectively. A third pipe C can empty the tank in 15 minutes.

The pipes A and B start filling the tank together, but after 4 minutes the third pipe C also gets opened and starts emptying the tank,

How much tune wall it take to fill the remanung tank 1f all the pipes are opened?
Options :

1@

T

b3
¥

Question Number : 52 Question 1d : 44100987312 Question Tvpe : MCQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A factory has 50 workers scheduled to complete a production run in 20 days. After 5 days. 10 workers are reallocated to another shift. How
many additional days will be needed to complete the production run with the reduced workforce?

Options :

1. 3.75 days
. 2.25 days
. 6.35 days
. B.15 days

[S54

Question Numbers : (53 to 55)
Read the given data carefully and answer the question that follows.

A lake had a water level of 500 million litres at the beginning of the year. Due to heavy rainfall during the monsoon season, the water level
increased by 30% by mid-year. However, 58 million litres of water were used by people in the surrounding areas.

As summer arrived, rising temperatures and other natural factors caused the lake’s water level to drop by 25% from its new level.

Due to awareness campaigns led by environmentalists to promote water conservation, water usage during the summer was reduced to 30
million litres.

Sub questions

Question Number : 53 Question 1d : 441009107279 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the met water level of the lake after the monsoon?

Options :

1. 630 million litres

2. 592 million litres

3. 488 million litres

4. 478 million litres

Question Number : 54 Question 1d : 441009107280 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the net water level after the summer?

Options :

1. 398 million litres

2. 444 million litres

3. 414 million litres
4. 398 million litres




OQuestion Number : 55 Question 1d : 441009107281 Question Type : MCOQ) Display Question Mumber : Yes
Correct Marks : 1 Wrong Marks : 0

What is the net percentage change in the water level compared to its original value?

(ptions :

1. 5% increase

2. 8% decrease

3. 10.4% increase

4. 17.2% decrease

Mental Ability and Logical Reasoning

Question Number : 56 Question Id : 44100968459 Question Type : MOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks: 0
What should come in place of the question mark (7) in the given series?

44 40 3o 32 28 7
Options :

1.20

224
.
4. 26

Question Number : 57 Question Id : 44100968461 Question Type : MOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What should come in place of the question mark (7) in the given series?

4 & 18 32 7
Options :

1. 48

2. 96
.62
4. 64

Question Number : 58 Question Id : 44100968463 Question Type : MOQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

13 is related to 39 following a certain logic. Following the same logic. 23 is related to 75. To which of the given options is 45 related, following
the same logic?

(NOTE: Operations should be performed on the whole numbers, without breaking down the numbets into their constituent digits. E.g. 13
Operations on 13 such as adding/subtracting/multiplying to 13 can be performed. Breaking down 13 into | and 3 and then performing
mathematical operations on 1 and 3 is not allowed.)

Options :
1. 133
. 145
. 165
. 155

[




Question Number : 59 Question 1d : 44100968382 Question Type : MCQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

B is the mother C. C is the sister of (. Q is married to T. T is the father of 5. How is Q) related to B?
Options :

1. Son

2. Daughter
3. Sister

4. Wife

Question Number : 60 Question 1d : 44100968388 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A is the hushand of B. F is the son of B. How is A related to F?

Options :

1. Sister’s husband

2. Father

3. Brother

4. Mother

Question Number : 61 Question 1d : 44100968398 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Refer to the following letter series and answer the question that follows.
Lefd) T B YM RES 1 C X Z0WAQ DF H G U K (Right)

Which letter is sixth from the left in the given series?
Options :
1LE

21

M
D

B W

Question Mumber : 62 Question 1d : 44100968405 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Refer to the following series and answer the question thart follows. (All numbers are single-digit numbers only.)

(Left)d 2 1 5 79 85 3 62157378438 9 7435 24 I1(Right)

How many 3°s are there in the given series?
Options :

1. Three

2. One

3. Two

4. More than three

Question Number : 63 Question Id : 44100968414 Question Type : MCQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Refer to the following letter and symbol series and answer the question that follows. Counting to be done from left to right only.
(Left)y AB&PDTS *TES*EB (Right)

Which of the following letters/symbaols is fourth from the right in the given series?

Options :
1. &
25
iB
4. @




Question Number : 64 Question I1d : 44100968424 Question Type : MCQ Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MRA is related to OTC in a certain way based on the English alphabetical order. In the same way, DLU is related to FN'W. To which of the
given options is FKP related, following the same logic?

Options :

1. IMU

2. HMR

3 INS

3
4. HNT

Question Number : 65 Question I1d : 44100968438 Question Tyvpe : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What should come in place of the question mark (?) in the given series based on the English alphabetical order?

EG 1K MO Qs T
Options :

1. RV

2.UwW

iTW
4TV

Question Number : 66 (Qquestion Id : 44100968469 Question Type : MO Display Qruestion Number : Yes
Correct Marks : 1 Wrong Marks : 0

Read the given statement(s) and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusion(s) logically follow(s) from the statement(s).

Statemenis:
All planets are rocks.
All rocks are lakes.

Conclusions:

(1) All planets are lakes.

{1I} No lakes are planets.

Options :

1. Only conclusion (1) follows.

2. Only conclusion (1I) follows.

3. Neither conclusion (1) nor (11) follows.
4. Both conclusions (1) and (I} follow.

Question Number : 67 Question Id : 44100968444 Question Type : MOCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select the option that will replace the question mark (7) in the figure given below to complete the pattern.

l?

-

-

Options :

(1 [

W




Question Number : 68 Question 1d : 44100968454 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the figure given in the options which when put in place of the question mark (7) will logically complete the series.

I A N

Options :

he

=

Question Numbers : (69 to 70)

Refer to the following scenario and answer the questions that follow.

In an examination, Amar ranked 9" from the top and Ram ranked 16™ from the bottom. Ram is ranked immediately below Amar.
Sub questions

Question Number : 69 Question Id : 44100968311 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

How many students are there in the class?

Options :

1.25

24

26

23

w1

Question Number : 70 Question Id : 44100968312 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the position of Amar from the bottom?

Options :

1. 15
17
3.16
10

[

=




Question Numbers : (71 to 72)
Refer to the following scenario and answer the questions that follow.

Anil starts from Point A and drives 8 km towards the north. He then takes a right turn, drives 2 km, tumns right, drives 8 km and stops at Point P.
{All marns are 907 urns only unless specified.)

Sub questions

Question Number : 71 Question Id : 44100968370 Question Tyvpe : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

How far (shortest distance) should he drive from Point P in order to reach Point A again?

Options :

1.2km

2. 3km

3.35km

4. 4 km

Question Number : 72 Question 1d : 44100968371 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Point P is towards which direction of Point A7
Options :

1. North

2. East

3. South

4. West

Question Numbers : (73 to T5)
Refer to the following scenario and answer the questions that follow.

Each of P, Q. R, 5 and T has an exam on a different day of a week starting from Monday and ending on Friday of the same week. P has an exam
on Thursday. Only one person has an exam between P and T. R has an exam on the day immediately before T. Only one person has an exam
between R and 5.

Sub questions

Question Number : 73 Question Id : 44100968352 Question Type : MC(Q) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

On which day does () have the exam?

Options :

1. Tuesday

2. Frnday

3. Wednesday

4. Monday

Question Number : 74 Question Id : 44100968353 Question Tyvpe : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

How many people have (an) exam(s) before T?

Options :

1. None

2. Three
3. Two
4. One

Question Number : 75 Question Ld : 44100968354 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

How many people have (an) exam(s) between 5 and ()7

Options :

1. Mone

2. One

3. Two

4. Three




English Language SKkills

Question Number : 76 Question Id : 44100988931 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

Shilpa Banerjee is the most active and energetic social worker in our club.
Options :

1. more

2. most

3. much

4. less

Question Number : 77 Question 1d : 44100264238 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful and coherent
paragraph.

Over time, these subatomic particles combined to form atoms, leading to the creation of galaxies, stars, and planets.

The Big Bang Theory states that the universe originated from an extremely dense and hot singularity approximately 13.8 billion years ago.
As the universe expanded, temperatures dropped, allowing elementary particles like protons and neutrons to form.

This event triggered a rapid expansion, spreading energy and matter outward in all directions.

. Eventually, this expansion led to the structured cosmos we observe today.

Options :

1. ADBCE
2. BDCAE
3. ADCBE
4. DAECB

Mo 0w

Question Number : 78 Question 1d : 44100985898 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Select the option that can be used as a one-word substitute for the given group of words.

A person who eats human flesh.

Options :

1. Cannibal
2. Gourmet
3. Ommvore
4. Herbivore

Ouestion Mumber : 79 Question Ld : 44100964283 Question Tvpe : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : ()
Select the most appropriate ANTONY M of the given word.

Tenacious
Options :
1. Persistent

. Weak-willed

. Resilient

[

4 lad

. Indifferent




Question Number : 80 Question 1d : 44100964289 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECTLY spelt word from the given sentence and select the option that rectifies it.

James Cameron’s pioniering approach to filmmaking in Avatar revolutionised three-dimensional cinematography, integrating photorealistic CGl
with sophisticated motion-capture techniques to craft an unparalleled visual spectacle.

Options :

1. pioniering — pioneering

2. revolutionised — revolutiolised

3. cinematography — cinemathography

4. sophisticated — sophistycated

Question Number : 81 Question 1d : 441009102240 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Scuffle T H AT wig=e -
Options :

1. THEl

et

gl

bt

4 e

Question Number : 82 Question Id : 441009102287 Question Type : MC() Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Breakthrough T it UrTH! nigem d-
Options :

1. 3JA U1 B T3

HardE

WA 2B

R GG

bt

e el

Question Numbers : (83 to 85)
Read the given passage and answer the questions that follow.

Amelia Earhart, a pioneering aviator, mysteriously vanished on 2 July 1937, while attempting to circumnavigate the globe. Her disappearance
remains one of history’s greatest unsolved mysteries. Earhart and her navigator, Fred Noonan, were flying over the Pacific Ocean, en route to
Howland Island, when they lost radio contact and were never seen again.

Numerous theories attempt to explain their fate. The most widely accepted theory suggests that their aireraft, a Lockheed Electra, ran out of fuel
and crashed into the ocean. Another theory proposes that they landed on an uninhabited island, surviving for a time before succumbing 1o the
elements. Some believe they were captured by the Japanese, possibly mistaken for spies.

Despite extensive search efforts by the US Navy and ongoing investigations, no conclusive evidence has ever been found. Fragments of
possible wreckage and radio distress signals have surfaced over the years, but nothing has definitively solved the mystery.

Amelia Earhart’s disappearance remains a topic of fascination, inspiring books, documentaries and expeditions. Regardless of the mystery, her
legacy as a fearless aviator and a symbol of perseverance continues to inspire generations.

Sub questions

Question Number : 83 Question Ld : 44100978675 Question Tyvpe : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What was Amelia Earhart antempting to do when she disappeared?

Options :

1. Break the sound barrier

2. Circumnavigate the globe

3. Fly solo across the Atlantic
4. Set a world record for altitude




Question Number : ¥4 Question 1d : 44100978676 Question Tyvpe : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Based on the passage, why is Amelia Earhart’s disappearance still a subject of fascination?

Options :

1. Because nobody knows if she is alive or dead

2. Because she was the first woman to fly a plane

3. Because many aviators have vanished in the Pacific Ocean
4. Because her disappearance led to the invention of radar

Question Number : 85 Question 1d : 44100978677 Question Type : MCQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Select the most appropriate title for the passage.
Options :

1. The Life and Achievements of Amelia Earhart
2. The Mystery of Amelia Earhart’s Disappearance
3. How Amelia Earhart Changed Aviation Laws

4. Amelia Earhart’s Secret Mission

Punjabi Language Skills

Question Number : 86 Question 1d : 44100998630 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ha=d ¥ Adl wid" Ugre?
“HTd ¥ A o8d 331 dar

Options :

| fraatade

2. R I e

3. it few feus wEa
4. fHaOga

Question Number : 87 Question 1d : 44100999749 Question Type : MC(Q) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Fed TGS Ha'ed ® Al »idg § 92 :
Options :

| EBET m U

2. HHTES Adaat

3. faHdAE A A=A

4. 38 A&

Question Number : 88 Question 1d : 44100999826 Question Tyvpe : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : ()

fera meEe fuesd a1 = &di gfenr
Options :

1. Belerdt

APl

ZEwrdl
drerdt

[

Eadll




Question Mumber : 89 Question 1d : 441002100235 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

HE mEe o R4 fEa ve -

Options :
1. HT&= ]
2 HEE
3 HBEE
4. HBal

Question Mumber : 20 Question 1d : 441009101842 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

il 3 ufasst faam wetar &di wiger »
Options :

1. Had

2. Aned!

3. Sdedl

4. et

Question Mumber : 21 Question 1d : 441002108266 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

g fefon fod Unmdt s @ pee Sl dead |

Options :
1. HH3geT
2.7d9

3. SHMH

4. 2CdB

Question Number : 92 Question Ld : 441009102249 Question Type : MCOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : ()

Proclamation 1 Hdl Ul Has ﬁ -
Options :

1. Bl

2 B
3. Belade
4. 918




Question Numbers : (93 to 95)

i & T A U3 w2 35 fE yms v §3a el

fafgnn == 9 =39 fea ¥ ymd @ mee gu fega Fae 6 gl & fafow mae wE de fafen mee o e e wie 3 5t A maei &
forfamit T wifi w1 O 71 gu w2 Srav wigTd fian Fee el © Wad 3¢ o6 1 on U dia-fafer mee @ vea de oa 1 o um
dia fafan meer @ U {29 G Heri § dftmn wier d 1 Bee 3§81 @ 1ug 3 31 ow gea wi= aig ol © Hed d¢ 96 yd fxfann @r<n 9
=34 feg oo 59w a5 | fafawr =ein e @ yard @ mae 39 0o | 3l w3 da-smn i (5 »i3 oo gu=i § 835 2) Sl »i3 die-
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Sub questions

Question Number : 93 Question 1d : 44100999726 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Y. ffan ==n 9 ge34 féa mignsn 3 ufogt feads = fafonn mee faas mee & feggor
Options :

1. TH HEE

2. Harles Hew

3. HY e

4. TegarasT mEe

Question Number : 94 Question 1d : 44100999727 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Y- 6 fsg g e fem st &y
Options :

1. Tafann <A g uge

2. v Tafan 2ein

Question Number : 95 Question 1d : 44100999728 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

I - fafagnn mee fan § siftmr aier d 2

Options :

1. Tias Tafan €<l €t 9e3d <9 20 Jav 7a|

2. Tt wee w2 dia fafanr mae

3. B e 7 Bl w3 did Bl 2 O fafasn mee Be @ Hea 3 Oa)

4. THT3 QU3 Sraw wigad fafan mee 581 @ Heg de as)




Digital Literacy and Awareness

Question Number : %6 Question 1d : 44100973207 Question Type : MCQ) Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following statements correctly describes the role of Random Access Memory (RAM) in a computer system?
Options :

1. RAM permanently stores the boot-up instructions of the computer.

[

. RAM is used to store data and instructions temporarily during execution.

. RAM forms the main processing unit of a computer system.

e led

. BAM provides the physical platform connecting all other components.

Question Mumber : 97 Question 1d : 44100973230 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which shortcut key combination is used to undo the last editing action in MS Word?

Options :

L. Cul+Y
2LCul+ &
ICul+U

4. Crrl + Shift + 2

Question Number : 98 Question 1d : 44100973233 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which file format is used to save a presentation that can be opened using MS PowerPoint?

Options :

1. .ppt or pptx

2. XKlsx

3. docx

4. .t

Question Mumber : 99 Question 1d : 44100973236 Question Type : MCOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

How can you navigate to the next slide during a slide show in MS PowerPoint?
Options :

1. Press the Spacebar or Right Arrow key

2. Press Esc

3. Use the Ctrl + N combination

4. Use the Alt + Shift shorteut

Question Number : 100 Question Id : 44100973244 Question Type : MCOQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the primary technology used by WhatsApp to ensure secure communication between users?

Options :

1. Public Wi-Fi Encryption

2. End-to-End Encryption

. Secure Hypertext Protocol (HTTPS)

3
4. Firewall Security




Punjabi Language Paper 11

Question Number : 101 Question 1d : 44100998571 Question Type : MCCQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

oI5 feg 89 Al feddl mae gde
"Hed"

Options :
1. HIad

2
3. 9dd
4

Question Number : 102 Question 1d : 44100998590 Question Type : MCOQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

a5 T f8 wierer mee o AME9Ea FEe At d 2
Options :
L MgaT
2. SfawE
3. AT
4. HiFe

Question MNumber : 103 Question 1d : 44100998602 Question Type : MCOQ) Display Question Mumber : Yes
Correct Marks : 1 Wrong Marks : 0

I8 fEd e Tt Fe

g divit o8 sufbs w1 g

Options :

1. 7% Ae- 90 ¥l Ha33T e O

2. v T yau € fifgaz § fBee 3=
3. T U WETgE di SaIE = |

4. 7% oF 9S8 b § AiE-AE | 3

Question Number : 104 Question Id : 44100998624 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

& fEd wwre It g dr

T Hel 3 HAG © w@r 7

Options :

1. 7 faR A1 yan § Ja= e ffar a2

2. ve S8 wifvd! o T Ha 94, o Ga daea w d= |
3. 72 oF fai 393 &% 98¢ 94 fagi ¥0 599w d A=l
4. Ta Sy i Efeet ¥ iiefare sl ¥re Bel dfn Aie d|

Question Number : 105 Question Id : 44100998644 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Hy3 Hav ol g fog mee fod dae mae e ¢
Ga 4at 1 fad yn fegma < g

Options :

1. fufs

2. TaAE HEl
3. divAcd

4. Buss




Question Number : 106 Question Id : 44100998659 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : ()

96 s wigdw T v Unrd nigewe o d2am
"4 good character is a great wealth.”
Options :

1. foet dan wdiza <3t ¥@3 4
G GEGEFkr et

_fore ar widsa feq <5t €83 41
_v53 fog dar wfdga o

[

= e

Question Number : 107 Question 1d : 44100999685 Question Type : MOCCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : ()

I3 fafinn & ofdedt gae o fedd mae fagzr I

Options :

1. GeHi

2. MABHE
3. Al
L

Question Number : 108 Question Ld : 44100999702 Question Type : MOQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

wiEdigr o feddl e faagr d
Options :

1. &g

2.4

3.918

4. T&aE

Question Number : 109 Question Ld : 44100999709 Question Type : MOCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

5 Tt fod widfae aee @ B Adl misged mE ot 9 941

Options :

1. fesuE, wiga, foama
2. AfEd, drE, famrdr

3. MEET, wiFd, wiFTE

4. fad®, Uame, AWR

Question Number : 110 Question Id : 44100999715 Question Type : MOOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

HignaTg T AHEE Bl O
Options :
1. g%H




OQuestion Mumber : 111 Question Id : 44100999722 Question Tyvpe : MOOQ Display Question Number :

Correct Marks : 1 Wrong Marks : ()

H &8 Tt et Tl feasy g 3 myrE § yar 94|
Options :

1. fdde ue urst

2. & GR T HIS g

3. 9wd o fad §r <l wret

4. da AR G Fared

Question Number : 112 Question Id : 44100999741 Question Tvpe : MCOQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : ()

e JHE T Erad faR 4 & 38 wieen T2, 3t fan vy =3 At AR d e
Options :

LG5 3agdedfom

2. BE T HG, ¥ T fearEing

3. A3 ¥ doa-faaE I ndid g Tel

4. v} ¥ e, i W R T

Question Number : 113 Question Id : 44100999759 Question Tvpe : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A s €99, o Ja fai g andf| =2 w5t et vored S 9 =31
Options :

1. I8 HdB

2 YyargdaugeE

3. g3 v Hud Baa

4. THLEGN €l a3 96

Question Number : 114 Question Id : 44100999766 Question Tvpe : MOQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : (

iyt &9 9ot wEet Haed @ mdl wiga & w2

Options :

1. Y & wEEs Jaa

2. WHT HE

1 G gfaagawe
4. i AT

Question Number : 115 Question Id : 44100999774 Question Tvpe : MOOQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

e HEe wie € fan fam § sanger 3
Options :

L YA &R

3. Fe-THd Al

4. WH.THE &<

[

Yes




Question Number : 116 Question Id : 44100999779 Question Tvpe : MO Display Question Nomber : Yes
Correct Marks : 1 Wrong Marks : 0

Options :

3. dIe-=d fenne
4. famd-Td feHE

(=

[

OQuestion Number : 117 Question Ld : 44100999782 Question Tvpe : MCOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

f7aR e Ugste Sl de I tma Tar o § 13, G faga uasie 3
Options :

1. An-=wa ugaie

2. YdH-Tgd UFAE

3. HHO-gd USaie

4. YHS-THd UFE'e

Ouestion Number : 118 Question Id : 44100999802 Question Tvpe : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

5 fafip e faga e wdizg Sad gfenrd 2
Options :

1. HEH

2.9

3. Hfee3

4. HeId

Ouestion Number : 119 Question Id : 44100999998 Question Type : MCOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

faar HEe B6 Adt 9g-296 ¥ 9= J4dl

Options :

1. Ta=i
2. Tafamt
3. et
4. 164




Question Number : 120 Question 1d : 441009100029 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

¥d 9dl I9% Fg4 Ui B | T ¥ Aol 9g-295 91

Options :

1. ¥d Ydl 5da Jad yaF He d |
2. ¥id ddini 996 Fad UEEE 761
3. ¥d udl =g 998 UeE Hiv 78|
4. Udinit B9 996 I U 7 61

Question Number : 121 Question Id : 441009100058 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TEgs HiuE Fd |

Options :

1. fder
2. HH
198
4. H

Question Number : 122 Question Id : 441009100070 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

dIg HEY § Hg-29a 9ETge Sul [qaa wilga Sdiznn vedr ¢
Options :

1wt

27

3. fomp

4. Binp

Question Number : 123 Question 1d : 441009100252 CQuestion Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

foras wraet v fenad! fda &df der e

Options :

1. gan, fug, 94, Hia
2. e, B, AU
3. 20, widl, 34, ful
4. 31, WA, AT

Question Number : 124 Question Id : 441009100267 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

yfdal fan & Jfde aa?
Options :

. AW FE EHE

2. 7 WTH EAF 8 ©AE

3. 7@ 3% § Ydie 9da
4. 7 HITR 3 § YA Fdh




Question Number : 125 Question Ld : 441009100295 Question Type : MOQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

AHTH! e e i faad feramd filg ©t <ad it et &
Options :

-1

2. WFAl

3. gfeet

4. BTt

Question Mumber : 126 Question Id : 441009100311 Question Type : MOOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

5 fafiun i fera - Mg o Ad Mg 22 |
Options :

1. e, T, feaardt

3. TE, HaEal, gdae, fiet

Ouestion Number : 127 Question Id : 441009100337 Question Type : MOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : ()

Options :

1. ¥ IT A EH D

2 ST ITE, A A
3 ¥ TAF AT EH I
4 9T ZTF FHE Y -

OQuestion Number : 128 Question 1d : 441009100346 Question Type : MOCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : ()

ot 2 o 98 HEe W @ § 98- SR BE faad fenan filg 9 wad di ety
Options :

1. B

2. Hdae

3. wfEd =n

4.0 =

OQuestion Number : 129 Question 1d : 441009101001 Question Type : MOOQ Display Question Number @ Yes
Correct Marks : 1 Wrong Marks : 0

U5 fafipr fed Ao mee dl de ad |
Options :
1L A
2. Fiad

3
A

Ouestion Number : 130 Question 1d : 441009101009 Question Type : MOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

a5 i fod Fu mee wdi di
Options :

.13

203

3. Hfa3

4. Hedt




Question Number : 131 Question Id : 441009101036 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

I (St fed gu == € ufgws 941
Options :

LHE U TdTA?

2. Ha Ug 9 TA|

1L HE UFTd Ta|

4 HSUFTdTa!

Question Number : 132 Question Id : 441009101040 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

5 fafr S Ao o= 92
Options :

1. digg ¥i3 "o d¢ Ta|

2. AEgHS AGE IE T5 |
303 HIR TR Om |
4 deg R AT U 5 |

OQuestion Number : 133 Question Id : 441009101781 Question Type : MCCQ) Display Question Number @ Yes

Correct Marks : 1 Wrong Marks : 0

I fafimi @i fied wiy o= 9 ufgers 34|
Options :

1. gifgd ¥e8 d< Jad wid Hig uan

2. T3 We 2 U A ug =9 ug wdl faan

3. °9g3 Had & fmd &dl de|

4. Hd AgS UFs SE W dd HA |

Question Mumber : 134 Question Ld : 41009101797 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

5 fafm &Y 2o Sug St dnrd 88 gae wee fagard »

Options :

1. Bast
2. @t
3. §a=
4. Gt

Question Number : 135 Question Id : 441009101813 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

14 wia we il feg gaei mER d |

Options :

1. g8+t

2. Het

3. ddi

4 denf




Question Number : 136 Question Id : 441009101826 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

69" wia § et feg fgd)
(Iptions :

1. Bd3d

2. G539

1439

4. §53d

Question Mumber : 137 Question Id : 441009101834 Question Type : MOCQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

wagEd 3 ufast faaa wdtarwger d -
(ptions :
1. eHd
THHEd
3. HdiAZ
4. A=

[

OQuestion Mumber : 138 Question 1d : 441009101849 Question Type : MCCQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Haded 3 ufast fagm ea nrferd 2
Options :
1. mald
2. 3ged

3. M3ed
4. FHEd




Question Number : 139 Question Id : 441009101862 Question Type : MOCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fem it frm o qu e
Options :

1. dig=™d

2. d<led

3. <ided

4. gAUfIed

Question Number : 140 Question Id : 441009101872 Question Type : MOO) Display Question Mumber : Yes
Correct Marks : 1 Wrong Marks : 0

daea 3 2 fon uiast fram TamEe a2
Options :
| Hugg
2. Hdded
3. AW
4. AHIET

Question Number : 141 Question Id : 441009101951 Question Type : MOCO) Display Question Momber : Yes
Correct Marks : 1 Wrong Marks : 0

Seripture ©7 Ul migew -
Options :

1. HTHId

2. H'HA

3. HITE

4. HHATD

Question Number : 142 Question Ld : 441009101985 Question Type : MOCQ) Display Question Mumber : Yes
Correct Marks : 1 Wrong Marks : 0

"Acknowledgement' ¥ UdTH! wige o[l
Options :

1. gt

2. @dd

3. 9EaH

4. gHIT

CQuestion Number : 143 Question 1d : 441009102053 Question Type : MOOQ) Display Question Nomber : Yes
Correct Marks : 1 Wrong Marks : 0

"Accession’ FEE w1 UrTel nigea o -
Options :

1. BurAs
2. STt
3. WddT

4. frgga




Question Mumber : 144 Question 1d : 441009102095 Question Type : MCQ) Display Question Number
Correct Marks : 1 Wrong Marks : 0

Cor mae v feddi mee d |

Options :

.88
2. B
3. 69
4. G4t

Question Number : 145 Question Id : 441009102234 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Thesis © Fdl Ut nigee J -
Options :

1.y

2. A Y&y

3. yguat

3.3

Question Number : 146 Question Id : 441009102253 Question Type : MCQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Fragment €7 Al Ul nigee d-

Options :

1. ga"ddar

2. gaH’

3,996
49T

Question Number : 147 Question 1d : 441009108310 Question Type : MOQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

o5 fafmy few Bies damst 9 o mae O

Options :
1. ™3
2. dm
3.1
4.9

Question Number : 148 Question 1d : 441009108540 Question Type : MO Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

5 3 e et fe Vet 3 e faow mee SsmH qu sd AT d 2
Options :
1.

[

Eall &

HH
GIEL
EEL
ER.

: Yes




Question Number : 149 Question 1d : 441009108645 Question Type : MOCQ) Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Js eI mErifed dumaedidead |
Options :

1. H&d

2. g

3 Hg

4. vt

Question Mumber : 150 Question 1d : 441009110145 Question Type : MOQ Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

O3 Tafin fod faaan Unrst s v gee oy

Options :

1. ¥{™g
2. dHHS

3. MdYH
4. dada™!




